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[ ENGLISH ]

Direction: Choose the option that is the direct form
of the sentence.

The teacher asked the students if they had
understood her question.

The teacher asked the (b)
students, "Have you
understood her

question?"

The teacher asked the (d)
students, "Have you
understood my

question?”

The teacher asking the
students, “If you have
understood my
question?”

The teacher asks the
students, "whether you
understand my
question?”

Direction: Choose the option that is the direct form

of the sentence.

The judge said to Jia, “Stand in the witness box.”
The judge told Jiayou  (b) The judge told Jia to
are standing in the stand in the witness
witness box. box.

The judge told to Jia (d) The judge told Jia you
stand in the witness will stand in the witness
box. box.

Direction: Select the most appropriate option to
fill in the blank.
Indian followed a policy of non-violence to make

their successful.
encounter (b)  struggle
politics (d) speeches

(4 -8) In the following passage, there are blanks,
each of which has been numbered. Choose the
correct word from the given options which fits the
blank appropriately.

_ (1)_ October 12, 1492, the Italian _ (2)__
Christopher Columbus landed on a small island in
the Caribbean, which he named San Salvador and
claimed for Spain, the country that had ___(3)__
his voyage. __(4)___ Columbus was not actually the
first European to reach the Americas, and millions
of indigenous people already lived there, he has
traditionally been __ (5)__ in the United States as
the "discoverer” of the Americas.

Which of the following words most appropriately
fits the blank numbered _(5) ?

celebrated (b)
ignored (d)

hated
unexalted

Which of the following words most appropriately
fits the blank numbered _(3)_?

enemy (b)
boycotted (d)

sponsored
competitor

6.

(@]

11.

12.

(a)
(@]

13.

(a)
(@]

14.

(@]

15.

Which of the following words most appropriately

fits the blank numbered _(2)_?
inventor (b)  scientist

explorer (d) shipwright

Which of the following words most appropriately
fits the blank numbered _(4)_?

through (b)
for (d)

because
although

Which of the following words most appropriately
fits the blank numbered _(1)_?

on (b) in
at (d) to

Give the antonym of Protects.
Defends (b)
Deserts (d)

Deprives
Devises

Direction: Choose the correct meaning of the given
idiom.
Be in eclipse

Less successful (b)  Feeling happy

Very successful (d) Being defeated
Direction: Choose the correct meaning of the given
idiom.

“Once in a blue moon”

Night time (b)  Anincident that
happens extremely
rarely

An incident that (d)  Moonless night

happens very

frequently

Direction: Choose from the four options, the word
that best defines/substitutes the given phrase.
"Being afraid of water or being near water"

Xenophobia (b) Autophobia
Monophobia (d) Aquaphobia
Select the wrongly spelt word.

Fixation (b) Providance
Musician (d) Consequence

Direction: Choose the appropriate word to fill in
the blank.

Suicide is not a solution to life's problems, ?
are they (b) isn'tit
is it (d) aren'tit

Direction: Choose the appropriate word to fill in
the blank.

Complete the notice with the right word. Use of
cell phones is within the premises.
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(@]

16.

(a)

18.

(a)
(@]

21.

(a)
(@]

22.

(a)
(©

avoided (b) disallowed

prevented (d) suspended

Direction: Select the alternative that will improve
the underlined part of the sentence in case there is
no improvement select “No improvement”.

In the major cities cost of life is very high.

cost of life are (b)  the cost of living are

the cost of living is (d) No improvement
Identify the segment in the sentence, which
contains the grammatical error.

My father did never have an opportunity to go to a
University.

an opportunity (b)  a university
to go to (d) did never have
Direction: In the question below, there is a

sentence of which some parts have been jumbled
up. Rearrange these parts which are labelled P, Q,
R and S to produce the correct sentence. Choose
the proper sequence.

When the carpenter

P) finished his work

Q) and appreciated him for his work

R) to inspect the house

S) his employer came

The proper sequence should be:

RPQS (b) PSRQ
QRPS (d) SPQR
Give the antonym of Terrible.

Soothing (b)  Frightening
Horrible (d) Delectable

Direction: Select the word which means the same
as the group of words given.
A solution for all difficulties or diseases.
Medication (b)
Remedy (d)

Treatment
Panacea

Direction: Select the alternative that will improve
the underlined part of the sentence in case there is
no improvement select “No improvement”.

The floods this year cause a lot of damage to the
crops.

causing a lot of (b) cause lots of

have caused a lot of (d) No improvement

Direction: Select the most appropriate synonym of
the given word.

Ambiguous
Unclear (b) Clear
Bright (d) Faded

23.

(a)

24.

(a)

25.

(a)

26.

27.

(a)
(@]

28.

Direction: Select the most appropriate synonym of
the given word.
Condescending

Stimulating (b)
Creating (d)

Accusing
Patronising

Direction: Select the option that is similar in
meaning to the word given.

Ambrosial
Formal (b) Grand
Sweet (d) Customary

Direction: In this section, a word is spelt in four
different ways. Identify the one which is correct
and mark your answer accordingly.

Neurasis (b)  Nuroesis

Neurosis (d)  Neuresis

[ REASONING ]

ez Fafafe af & dv F d9y &1 wakwm
AT $A aTet 9 IIRE BT 999 BN

3{TH, B, dip

Direction: Select the Venn diagram that best
represents the relationship between the following
classes:

Mango Fruit, Knife

w QOO
@

did oa & TP 37 Ugd qUAR ATl 3 a1d A
TG B4 A1 a7 ghm?

The day before yesterday was Wednesday. What
day will it be the day after tomorrow?

?ﬁEﬂTSunday (b) WHAR Monday
HITAR Tuesday (d) TYIR Wednesday

e FafifEd uy  $© $y= 3R 39S 91¢ 7O
frepy faw e €1 sy few T Sy @) W AT
R A B A B S i o A A A
el 31 ufw ok fiFr aa IR f f&ar T F19
a1 frspd T T FYA &1 difbd U T IR0
FRarel

HYT:

FO AT A T

Fo T T T B

e

1. @13 oft Ihg Frem T B
Il. $S IAhe A g
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(a)

(@]

29.

(a)

30.

(a)

(@]

Direction: In the following question below some
statements are given followed by some
conclusions. Taking the given statements to be
true even if they seem to be at variance from
commonly known facts, read all the conclusions
and then decide which of the given conclusions
logically follows the given statements.

Statements:

Some sky is blue.

Some blue is not white.

Conclusions:

I. No white is blue.

Il. Some white is blue.

FHAd | IR BIATE (b))  HIAd Il SFTIRVT HRal §
Only | follows Only Il follows
QU ar | 47 11 SFERT d) PIs t STEROr RN

W% Either | or Il HT{T‘IT% None follows

follows

fFrafifea wiewo ot 98 TR & i o @
HEAT3M DI M H yfayTiia s arfge?
12x2+8-48+6=20

Which two numbers should be interchanged in the
following equation to make it correct?
12x2+8-48+6=20

12 3R 48 12 and 48 (b)
8 3R 12 8 and 12 (d)

frézr: 39 faweu &1 999 &3 ot TS enpfa A St
YR Hald § 99 gudl opfa ugelt snmpfa &
a3

Direction: Select the option that is related to figure
C in the same way as figure B is related to figure A.

6 3R 86and8
23R62and 6

C>A00q0.000,>
ﬁh.1}k..*v..
A B 5 D
> Q < QO
{}v(b)!&s
¢ O = D
X v X v

(d)

32.

(@]

33.

34.

(a)
(@]

35.

(a)
(@]

36.

If the following words are arranged in alphabetical
order which word will come last?

1) Abandon

2)Actuate

3) Accumulate

4) Acquit

5) Achieve

Acquit (b)  Actuate

Achieve (d)  Accumulate

fd=r : f &1 eFyd® sreme HY 3R TE gdur
Sfa gl

Direction: Study the image carefully and choose
the correct mirror image.

=
A A
SR,

fruafafag uy & & I & AR geaar fiu
T GHISRU BT HEl Fiford |
28+6x9+3x8+2-5=31

In the following question, correct the given
equation by interchanging two numbers.
28+6x9+3x8+2-5=31

6 3R 96and9 (b) 33R63and6

6 3R 26and 2 (d 63MR56and5

Ts fAff@ $e urr # FRAGRANCE @I
ESZHQBMDD & &0 ® forar &1 g1 39 yrwr &
EXCELLENCE & f»y yoR forar simamm

In a certain code language, FRAGRANCE is written
as ESZHQBMDD. How will EXCELLENCE be written
as in that language?

DYBFKMDPBF (b)
DYBYMKDOBF (d)

DYBFKMDOBF
DYBFKMDQBF

afe & 1 34 +, # B1 31 -, @ BT 34 x 3R * BT IS
2 A16&4@5#72*8 BT HMHATR?
If & means +, # means -, @ means x and * means

31. Td ﬁ%g o< ﬁ “LIFE” &1 “3965" feraT wira % q9q +, then what is the value of 16 &84 @ 5#72*8?
FUN" 51 5% sepTe Rrg wirr ey @ 25 b) 27
In certain code, “LIFE” is written as “3965"”, then 59 q 36
how must “FUN"” be written? © (d)
(@) 635 (b) 634 37. €% arpfa # Frysil Y Wen wa e
(© 633 (d) 629 Find the number of triangles in the given figure.
Mob. - 01141676717,9312712114 Page 4




SCHOLARS ACADEMY

(a)
(@]

38.

(a)

(@]

40.

(b)y 6
(d)y 10

f=r: yomelt o1 9uie FRd g Siiws fiw e ¥ fRon
P i 3 His 2 R B ue Suge @S @
FIeT 9T 81 A fie e fiwer A @ sifaw snepfa
cakeed

Direction: Figures are given describing the system
in which a part is to be folded and then to be cut
from a suitable section. chose the final figure from
the given option below.

o v

14 /_ A_
4 i
oo & B %% o O
o° o o o, Tl
) b @

3) d @

W, U S 98 HePHR U1 IRTY ¢l 8 5 o &
gfy & fiar &t uelt @ 9 §1 U SR W TP guv @
4 wafta &2

W introduced herself to U by saying that you are
the daughter-in-law of my husband's father's wife.
How are U and W related to each other?

UWHTRF YRS (b) U WP U B s8¢l
qT?ﬁ%I UisW's U is W's husband's
husband's brother's sister

wife

W UF TR TET8  (d) W, UPYUE DI ua gl

W is U's husband's
sister

TP TR F1 9R fRufeal 1 & 7 1 ¥ eam A ¢
3R J1a B 6 31 4t e 5 & fodia 2

Four positions of a dice are given below. Look at
them carefully and find which number is opposite
to 5?

P

1 (d)

fFafafad IR Tl § & &9 vo fAfRw dei & e
TR & U ¢ 3R U fww 31 faww &1 999 +¥)

W is U's brother's wife

(a)

42.

(a)
(@]

43.

(a)
(@]

45.

(a)

Three of the following four words are similar to
each other in a specific context and one is odd.
Select the odd one.

Ul 9 Habitat  (b)

Hig Den (d)

SIddd Stables

Eﬁﬁ'ﬁ Barn

I & UaT T | G AT 99 ¢SS I Ugd, I B

fUrar &1 omg IEPT g Pt 2.5 AT G I BY

Taa oy frat 82

Ram'’s father is twice as old as Ram is. Eight years
ago, the age of Ram’s father was 2.5 times his age.

What is Ram'’s current age?
25 9% 25 years (b)

24TY 24 years (d)

= Fufafaa o & yyaree g 2 & A
TR T 3TYIT?

24, 61,122, 213,?

Direction: What should come in place of the
question mark '?' in the following number series?
24, 61, 122, 213,?

343 (b) 334

337 (d) 340

= Fafafaa gear & uyaes fE > & wE
U T 3TYT?

8,28, 116, 584, ?

Direction: What should come in place of the
question mark '?' in the following number series?
8,28, 116, 584,?

1752 (b) 3504

3508 (d) 3502

fd=r: 39 faweu &1 999 &3 ot S o @ 3=
TPR Yaftd § 99 O3 o ugel ompfa @
e 81

Direction: Select the option that is related to the
third figure in the same way as the second figure is
related to the first figure.

@%@ ?

2399 23 years
229 22 years

(b)

T g & ¢ 3, e ¥ e e gw 31 R W
mﬁm‘r’ﬁﬁaﬁ'ﬂﬁﬁwqﬁmwﬁmaﬁw
|
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(a)
(@]

47.

48.

(@]

49.

(a)
(@]

50.

KN, MP, OR, QT, SV, ?

A series is given with one missing term. Select the
correct alternative from the given ones that will
complete the series.

KN, MP, OR, QT, SV, ?

T™W (b)y UX

ut (dy uwv

39 faweu snpfa &1 99 S oRId uy enpfa
st/ g

Choose the option figure in which the problem
figure is hidden/embedded.

S/
x| |
A E

d

e 39 W &1 99 &Y o Pl gae o
3R ST
ABB, BCF, CDL ?,

Direction: Select the word that will come next in
the following series.

ABB, BCF, CDL ?,

DEU (b) DET

DES (d) DER

gigsdrard ', Bt '+, # 1Y - R @ BT
If'x'§ NAIAP 12#12 @ 28 $ 7 & 15 BT HH
T M

If $ means '+', & means '+', # means ‘-' and @
means 'x’', then what will be the value of the
expression 12 # 12 @ 28 $ 7 & 15?

30 () -15

-21 (d) 45

gfg § T Y WR T U v g, of Fafared
# @ 919 1 fdoey faw 7 o &1 9 ufafara g
If a mirror is placed on the selected line, which of
the following options is the correct image of the
given figure?

51.

(a)
(@]

52.

(a)

53.

(a)
(@]

54.

[ Quantitative Aptitude ]

T V162

iRy V1% YA x AW

T 31T AT

What should come in place of both x in the
F — V162

equation V128 ’

12 (b) 14

144 (d) 196

?Tﬁ' T =32, %,T‘ﬁ' x5 — 3321+ 332% — 3322 + 33z — 1
T HIH JTd DI

If “ =52 then find the
% — 3324+ 3323 — 3322+ 33z -1

31 (b) 35
32 d 36

15sin 8 + 20cos 8 BT 3ffUHTH HIF JTd PIT|

Find the maximum value of 15sin 6 + 20cos 6.

value of

25 (b)y 35

30 (d 5
fér: 7 31 4 3R faw T vl HTIW G|

5 quf § g Ul A SR B §RT HaTferd uiarormai
o1 HE ¥ "t Sel

Direction: Refer to the graph and answer the given
question

Data related to the number of projects handled by
two companies A and B over 5 years.
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(@]

55.

(a)
(@]

56.

(a)

(@]

57.

(a)
(@]

58.

59.

gfed 2007 & 2008 AP Ul A GRT HAId
giaeTs @Y W | 20% Ft 93 g3 3k 2008 |
2009 TP 5% DI §s, @l 2009 ¥ HUH A gRT
Harfera ufkarersdt ot W feat iz

If the number of projects handled by company A
increased by 20% from 2007 to 2008 and by 5%
from 2008 to 2009, what was the number of
projects handled by Company A in 2009?

378 (b) 372

384 (d) 396

TP PR 6 fHHi/ter ¥ M dgd ¢ ISF W TH
FfT $) IR a1 31 Afe 2 firie a9 FR $) 3@
7| gf SR & SN3d g & 9HY Afed It PR A
T 1.2 Tt <, @ SR ot i 1@ S

A car crosses a man moving along a road at 6
km/hr. The man could see the car for up to 2
minutes. Find the speed of the car, if at the time of
disappearance of the car, the distance of the car to
man was 1.2 km.

42 fpHt/ger 42 km/hr (b)
32fFHl/Eer 32 km/hr ()

36fHI/EeT 36 km/hr
asfaHi/ger 45 km/hr

TS 19 B TS URT F 3TH 15 km / hr § 3R URT
I 7Ifd 3 km /hr 81 19 GRT 15 km YRT &
3R 15 km YRT & JFd g8 Bt a9 B & forar
T $d JHY TTUET BT

The speed of a boat downstream is 15 km / hr and
the speed of current is 3 km/hr. Calculate the total
time taken by the boat to cover 15 km upstream
and 15 km downstream.

28 40f8e 2hours (b)) 2 H< 42 e 2 hours
40 minutes 42 minutes
2810 M 2 hours  (d) 2 ©e 30 e 2 hours
10 minutes 30 minutes

A is 60 % more efficient than B while Cis 20 % less
efficient than B. If they together can complete a
work in 40 days, then find in how much time A
alone can complete the work.

A B 60 % 3if® g&f 8, wiafd €, B 20 % HH
34 21 gl 3 THUTY TP HW BT 40 AT A W R
IHd g, @ F1d PR A Fpd fran &A1 & w10+

RIS
55 faq (b) 65fe
75 f&A (d) 85faa

TS $id &1 fIrd Tea 1965 T 3 3R 811 25% Bl
ofe faspa Yo 3013 U § o @y ufo=ra faramn 82
The selling price of glass is Rs 1965 and the loss
percentage is 25%. If the selling price is Rs 3013,
then what will be the profit percentage?

13% (b) 10.4%

15% (d)y 20%

DI dt THd ge, 10%, 20% 3R 40% B O Hi®
QAP R 2

(a)

(@]

61.

(a)

63.

(a)
(@]

64.

(a)
(@]

Which single discount is equivalent to three
successive discounts of 10%, 20% and 40% ?

44.8 % (b) 46.8%

52.8 % (d) 56.8%

TP AT B! AG1S | 10% Pt g 3R Me1s F 10%
P HH B T 21 A U AU F AABA | HT
g

The length of a rectangle is increased by 10% and
breadth is decreased by 10%. Then the area of the
new rectangle is:

mq@maﬂﬁ neither by 1 %ﬁq@ increased

increased nor by 1 %

decreased

1 % @1 HH decreased d) 10% PI HHI decreased
by 1% by 10 %

Tfg A: B=2: 5, B: C=4: 3 3R C: D=2: 1§, G4 A: C: D
BT A T 8?

If A: B=2: 5, B: C=4: 3 and C: D=2: 1, then what is
valueof A:C:D?

6:5:2 (b)
8:30: 15 (d)

8 9t Brear arelt A9 ot te 31 Tiq 9, 2 fndt =

arelt R ) frat o1 1S 3918 1 TPt 82

How many solid lead balls each of diameter 2 mm

can be made from a solid lead ball of radius 8 cm ?
512 (b) 1024

256000 (d) 512000

7:20:10
16:30: 15

SRS (.‘Sy)3 + (4;1,‘.)2 — (3y)3 4+ 23 _ g2
P I Dol

Simplify the
(Ea)? + (TT'I;); o (??\)‘] + S;} - 15

88y° + 1522 + 8
108y° + 16z + 8

expression

98y + 1622 +8 b
98y* + 152 +8 (g

s gufgarg AYw ® 2Q R R & FHfRHES
PQR fig E WR fraa &1 afg p = 50° B, at 2QER &1
HH F1d I

In an isosceles triangle, PQR the bisectors of 2Q
and «R meet at point E. If 2P = 50°, then 2QER is

5

Q R
115° (b) 65°
55° (d) 105°

Mob. - 01141676717,9312712114
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65.

(a)
(@]

66.

(a)
(@]

67.

(a)
(@]

68.

(a)
(@]

69.

HIYROI To R a1 &) 7 i 5 % ufa af a2
¥ TG BT 6 AT g A 8 | 0T 3rafy g1 B
A sum of money invested at simple interest
becomes 6 times of itself at 5 % per annum. Find
the time period.

50 9N 50years (b)

125 A 125 years (d)

100 Y 100 years
150 99 150 years

sin%)45° - cos? 15° T W T 87
The value of sin%/}45°-cos® 15°

/3 (b) 1/4
T4
-1/2 (dy 273
TTPA 1° + 2° + 3° + 4° + 5° @I 4 9 fauifoTa 7
R 1 ABd YT §I?

What is the remainder when the sum 1° + 2° + 3° +
4’ + 5% is divided by 4 ?

0 by 1

2 dy 3

e e oufar mar g=fta smya fafir &= & 4000
el B @1 yrAfiean gxifar 81 75% afgensy 3
T |I&UT T IR fan ara: |t & Y yrufiwar &
ufgar 3R gy BT 3uTd 3 : 1 gR I

Direction: Pie chart showed below shows the
preferences of 4000 school students in various
different fields. 75% of Females answered the
survey hence; the ratio of Females to Male in all of
the field preferences will be 3: 1.

0%

P g

arfers s v
%

fraq gou Sufiear) A fage 8k ®ar &) ywdlar
TS TUATIR?

How many Male candidates chose science and arts
as the preferred streams?

900 (b) 550
500 (d) 400
fAdar: fouw v sivie & WRa Bifee|

Direction: Simplify the given expression.

240 = 6 + V529 % 17 =2 + 150% of 80

G
240 = 6+ V929 4 17 =2 + 80 BT 150%
311 b) 310
309 d 312

5 A3 BT 3d 631 390 ¥ 3 BT NAd 8 21 AW
3 "3 BT 3RTd T 22

(a)

71.

(a)
(@]

72.

(a)
(@]

73.

The average of 5 quantities is 6 . The average of 3
of them is 8 . What is the average of the
remaining two numbers?

3 (b) 4
5 d) 6

e Fafafeaa ae o1 wryde sreaaa Y 3R
A2 &t 1 SIFPRY & TYR W UY BT I S|
w-m gl § HHATRA) ST ufawrd-ar
HUARAT Bt A JSAT = 26800

25%

20% 19%
17%

15%

15% 13%

10% 8%
5%

0%
E=niE TteTor ToeR @ior M v e

Rreror 3R RIfpa 1 & sraial #1 $a B0
IR YU U | Al t §S & dg BT 3R
fa &2

Direction: Study the following graph carefully and
answer the question based on the information
given below.

Percentage wise Distribution of Employees in Six
Different Professions

Total Number of Employees = 26800

30%
27%
25%

20% 19%
17%

15%
15% 13%

10% 9%
5%

[

Engineering  Teaching Film Medical Industries  Management

What is the difference between the total number
of employees in teaching and medical profession
together and the number of employees in
management profession?

6770 (b)y 7700

6700 (d)y 7700

HMET A BT 9a, B & Id9 4 60%31fUP g, df B &7
Ja9 A & a9 9 e ufawa sa 82

Let A’s salary is 60% more than B’s salary, then by
what percentage is B's salary less than that of A ?

47.7 % (b) 333%
375 % (d 45%

g 480 A SIaT F TAH P} daTS IR FAE
HAT: 12 A 3R 5 I 8, @ T P wars SR
qeTs & ST w1 AY 37

If the length and height of a cuboid of volume 480
cm’is 12 cm and 5 cm respectively, then what is
the relation between the length and breadth of the
cuboid?
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(a)

(©

74.

(a)

76.

(a)
(@]

77.

(a)
(@]

1@ =2 @S®) 1 (b) 2 (@« =3 @STR) 2
(length) =2 (breadth) (length) =3 (breadth)
3OS =4 @IS 3 (d) 4 (WSS =5 [@ISTE) 4
(length) =4 (breadth) (length)=5 (breadth)

& T ampfa § ADEC TS TG TgYS 2, CE 3R
AD, B TR fire & forw sere &id 1 ZCAD = 60° 3R
ZCBA = 30°, BD = 6 JWt 3R CE = 5V3 It AC: AD
BT AJUTT T 82

In the given figure ADEC is a cyclic quadrilateral,
CE and AD are extended to meet at B. /CAD = 60°
and ZCBA = 30°, BD = 6 m and CE 5vV3 cm, What is
the ratio of AC: AD?

3/4 (b) 4/5
2/3 (d) refRa =&t fear s
= Hbdl Can't be
5 )
determined

. T® 65 dtex fyor & 2rge 3R Wraw BT U 4 :

&l 15?ﬂaﬁm=ﬁw=ﬁmﬁﬂﬁmw%aﬁ?
sic A 991 & fg, 98 AR gu fgor &t aen ot gl
I[S e A B It 71 3T fArgor A =g 3R A
BT ST FIT 82

A 65 liters solution contained honey and sugar in
the ratio 4 : 1.15 liters of the mixture was spilled
by the housemaid and to avoid being scolded, she
replaced that spilled amount but with pure honey.
What is the ratio of honey and sugar in the
mixture?

6:1 (b) 5:1
11:2 (d 14:3

[ General Awareness ]

fay wde= f3aw &% e w9 7= St 37

When is World Tourism Day celebrated every year?
26 RidsR 26 September (b) 27 Rydar 27 September
28 RidsR 28 September (d) 29 Rydar 29 September

e A f5d 3rvAT sis TaHst §9 T 82

Who has been appointed by Uniqlo as its brand

ambassador?

3fferar Hg Alia Bhatt (b) PO BB Katrina Kaif
ﬁ;ﬂw Kareena (d) ?ﬁ I Kriti Sanon
Kapoor

78.

(a)

(@]

79.

(a)

80.

(a)

81.

(a)
(@]

T diest §&F ¥ A 3R e

g gl

A solder is composed mainly of and

foq, TegrifAad tin, (b) T, T tin, lead

aluminum

qiaT, W copper, lead  (d)  TegHi=ad, dfer
aluminium, copper

Fafafea % @ o9 W FugeR F1av 32

Which of the following is an advantage of

computer?

g5 9gd Se! AT § sl
@1 U IR GHAT | It
can calculate very large
amount of data.

IWIed g4t All of the

above

HYR TP Tgd ol (b)
%H'I'EN%I Computer is

a very fast device.

HHR A AEHREs, (d)
IR U5l a% &

fUeRids ¥ 7fd &t

EEZERING NI

Computers have units

of speed in

microseconds,

nanoseconds, and even

picoseconds.

goR TAaraRHe | fow feargy @1 A9e
tngﬁﬂ %m & ®U § IUGRT faar <Irar g2
Which device is used as the standard pointing
device in a Graphical User Environment?
CACIS] Keyboard (b) HISY Mouse
Srafe® Joystick (d) SHETd Trackball

Frafafed e o9
TUPR
NEIERIEGY
"SfHR
ISREGIED
RIS
SR ©).19
4. m (D).300A

(A).21

(B).14

Match the following:
Rights
Right to
" [Equality
Right to
"|Freedom
Righ
[Fgntio (©).19
IProperty .
4. |Right to Life  (D).300A
1(C), 2(B), 3(A), 4(D) (b)
1(B), 2(C), 3(A), 4(D) (d)

Articles

(A).21

(B).14

1(B). 2(C), 3(D). 4(A)
1(C), 2(B), 3(D), 4(A)
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82.

(a)

(@]

83.

(@]

84.

86.

(a)

(@]

87.

(a)

88.

DI AT I AR &A1Y (Ot dAr arsm T8t
HAT 2

Which state does not share its boundary with
Myanmar?

BT US () SRA Mizoram
Arunachal Pradesh
m‘ﬁrg? Manipur d) THfdBT Sikkim

%ﬂgﬁmmmﬁ"—@q%mﬁmwmﬁm

Which company is going to launch earthquake

warning service in India?

el meta (b) W Microsoft
TURT spacex (d) T[T Google
mﬁ%ﬁlmqﬁﬁﬁﬁ4ﬁmﬂ:ﬁmmﬁaﬂ
o

Who has invested $4 billion in Al company

Anthropic?
T Google (b) W Facebook
A amazon (d) fFIUBTE Flipkart

frafafed 4 @ feraa el wead & R dam-
T-SHRSIG BT RITIAT B2

Who amongst the following established "Diwan-e-
Amirkohi" during Delhi Sultanate?

AT RIarsh (b) ORI TS Feroz
Alauddin Khilji Tughlaq

o). [0 Ta® Mohd.  (d)  Segdi™T litutmish
Bin Tughlaq

"IN Siied” Ra® Wil Yollard! a1 & aR | g,
fram foreht 82

Who authored the book "Das Kapital”, which is
about the capitalist system?

SI% TeIfeH Joseph (b) ART &R Max Weber
Stalin

T AT Karl Marx (d) éﬁ'@fa@%:ﬁ Benito

Mussolini

SETHI T ISR 7, St
uf¥afda s g1

'‘Dynamo’ is a device, which converts
IR Sl Bl (b) EEIEIRIEC
ﬁ@ﬁﬁ chemical T electrical
energy into electrical energy into mechanical
energy energy

gifde St bl fdggd (d) faggd Seil &t

Solt # mechanical RS Sl H
energy into electrical electrical energy into
energy chemical energy

fFafafae & @ $19 URT ) tged TiSisy gA9
TeIgd §H1?

89.

(a)

90.

(a)

(@]

91.

(@]

92.

(a)
(@]

93.

Who among the following became the first
transgender election Ambassador of India?

TR FIGd Gauri Sawant  (b)  gadt Tfar

Satyashree Sharmila
Sfar d8d Joyita (d) YRASHTARF Prithika
Mandal Yashini

YRA & A | T gy ok el aa &t
A H P ugen ya forass gRT far T ot-
The first attempt to introduce a representative and
popular element in the governance of India was
made through______

YR uRug \m‘hﬁm (b) YR uikeg sifefay,
1861 Indian Council 1892 Indian Council
Act, 1861 Act, 1892

URGH gRYg ARy,  (d) URd™ gRkyg Hfdfem,

1909 Indian Council
Act, 1909

e g gt & Bl fawg W S 571 9ol 2-
The Parliament can legislate on a subject in the
State list-

RYUfd &1 51 W By the  (b)

wish of the President.

1919 Government of
India Act, 1919

g I QYT T TR
IR B I the
Rajya Sabha passes
such a resolution.

REIECRIS CIREE I BE)
Y GBI By asking the
legislature of the
concerned State.

TR @al # 400 Wex F1 ds A Wl ugH S
qrelt Ugelt UR<T wfgen #4982

Who is the first Indian woman to win gold medal
in 400 meters race in Asian Games?

TH.UA. & M. D. (b) IS ST PT. Usha

fol W uftfyfaai & (q)
Under any
circumstances

Valsamma
FHOASNd 9Y Kamaljit  (d)  &. AIHT K.
Sandhu Malleswari

R 5RART & $o IHaT & g sixffiy fiaw
HE AT T 7?

When is the International Day for the Total
Elimination of Nuclear Weapons observed?

26 RIdeR 26 September (b) 23 RIdaR 23 September
22 RIdeR 22 September (d) 24 RidaR 24 September

@I &1 e fae fae Ay &1 gwifar @:

The natural growth of the population refers to:

Ardl R S BT RAFGAT (b)) T TR ST B
Excess of births over 3BT Excess of
deaths immigration over
emigration
HR-APRAH 3R~ (d) FTTH A BIs o 7T

A EDRE R KRG |

Excess of in-migration

None of the above
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over out-migration

94. AIfg-NIEH, TH UNURS T, HRd & foa I=a &

3Ud g3i?
‘Mohiniyattam’, is a traditional dance which
originated in the state of _____in India.
(@) SH Assam (b) U ST West Bengal
(c) B Kerala (d) 31y UK Andhra
Pradesh
95. fFafafle ¥ @ #19 W Rysulds e N 3
ufra ok gevmitew & fRua 7

Which of the following meristematic tissue is
located in the leaves & internodes of the plant?

@ Safdy favsaas () i Rysads

Intercalary Meristem Apical Meristem
(© UREE fQusaas d) TIPS R
Lateral Meristem None of the above

96. fFrafafea & 4 1 g dfer & R vl 82

Which of the following is famous for Sun temples?

(a)  HIeT Modhera (b) IR Gwalior
(©) aFI(A) 3R (B)Both (A) (d) STHJBIS A8l None
and (B) of these

97. WTAATE I T WRITIH B UT?
Who was the founder of the Satavahana dynasty?
(@) W& Simuka (b) T O e ulf

Gautamiputra Satakarni

(c) EﬂﬁanVasudeva (d) @Idl Hala

98. CRISIL ¥t U & AR, Fv23 ¥ URAN
ST Pt ufera fawra R T §?
According to the CRISIL report, what is the
expected growth rate of the Indian economy in
FY23?

(@ 9.1 yfawrd 9.1 percent  (b) 8.8 Ufdwrd 8.8 percent

() 7.1 yfawrd 7.1 percent  (d) 7.8 ufawrd 7.8 percent

99. TSI UIET Wich AThelsH Srlaic RPR 4 fhd
T far srm?
Who will be honored with the Dadasaheb Phalke
Lifetime Achievement Award?

(a) 3GT Rekha (b) OIAT I Jaya
Bachchan
(©) a‘tﬂaw Waheeda (d) ilﬁ*_s{ Dharmendra
Rehman

100. ‘Efeu A's ey 2023 fFu Shar 82
‘Who has won the Indian Grand Prix 2023?'

(@) WWMichael (b) AT doidl Marco

Boltas Bezenchi
(©) STl AIféT george (d) ﬁ"&p TE?[ nobody

martin
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